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8 x 10 =80
7Tx4=28
10 x 11 =110
3x9=27
6 x 10 = 60
7Tx4=28
7Tx 8= 56
2x5=10
TxXb5=35
3x10= 30
7TxX 8= 56
3x3=9
12 x 9= 108
Tx2=14
5X9=45
9xb5=45
IxT7T=21
2XT=14
5% 6= 30
12 x 8= 96
6 x 10 = 60
8 x2=16
3 x4=12
8 x4 =232
4 x10= 40
:3x3=29
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6 x 10 = 60
3x9=27
7x9= 03
7Tx8= 56
I9x3=27
12 x 5= 60
10 x 3= 30
11 x5=55
3xX8=24
5x 8= 40
7TX6=42
6 x 11 = 66
11 x 8= 88
11 x4=44
12x 3= 36
Tx6=42
DxX2=10
3x6=18
8§x 12 = 96
3X2=0

11 x7=77
11 x5=255
8§x12= 96
2x11 =22
Ix8=72

Tx4=28
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Question 3  [25 marks] Question 4  [25 marks]
0 7Tx2=14 0: 10 x 11 = 110

1 8x 4= 52 14X 9= 36

2. TX6=42 2 6x4=24

34 x 11 =44 3:2x9=18

4: 10 x 8 = 80 4 10 x 12 =120

5 3 x10= 30 5 8X2=160

6: 11 x 10 = 110 6: 4 X8 =32

70X 9 =45 7. 9x4 =36

8 2x5=10 8 HXbH=25

9: 11 x 12 =132 9: Tx4=28

10: 7TX2=14 10: 3 x 10 = 50

11: 4 x 11 = 44 11: DX 9 =45

122 12 x 11 = 132 12 6 X 8= 48

13: 10 x 5 = 50 13: 12 x4 =48

14: D x4 =20 14: 5 x 11 = 55

15: 12X 6 =72 15: 12 x 3= 36

16: 11 x7=77 16: 8 X 10 = 80

172X 6= 12 19X 8= 72

18: 2x6=12 18 DX 3 =15

19: 2X2=4 19: DX 7= 35

20: 10 x 2 = 20 20: 12 X 8 = 96

21: 7 X 4 =28 21: 8 X 3 = 24

22: 2 X 12 =24 22 3X2=10

23: 3x3=29 23: 6 X 8 =48

24: 9 x 3= 27 24: 9 x 9= 81

25: 9 x 10 = 90 25: 6 X 11 = 66
mul_2to12_2to12 mul_2to12_2to12
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Question 5 [25 marks] Question 6 [25 marks]
0: 8X9=72 0: DX 8 =40

1 7Tx4=28 1 12x2=2y

2 11 x 11 = 121 2 2x 11 =22

3: 3 X 9=27 3: 4 X6 =2/

4. b x4=20 4 4x8= 32

5 4x4=16 5 5 X 8= 40

6: 6 x 11 = 606 6: 8x 9= 72

7. 7T XxX6=42 7. 7T x4=28

8 X3 =15 8 11 x7=77

9: 3 x9=27 9: 2x9=18

10: 2x5=10 10: 6 X 6= 30

11: 6xX2=12 11: 3 X 8= 24

122 11 X 6 = 66 122 4 X 7= 28

13: 0 x 10 = 50 13: 8 X 12 = 96

14: 8 X 11 = 88 14: 8 X 8 = 64

15: 12 x6 =72 15: DX 3 =15

16: 10 x 12 = 120 16: 3 X 12 = 36

17: 9 x4 =36 17 9X 7T =063

18 5 x 11 =55 18 4 x 11 =44

19: 8X 3= 24 19: 12 x 8 = 96

20: 7 x 10 = 70 20: 2 X 12 =24

21: 3 x 9= 27 21: 4 x 2 =8

22: 6 X 6= 30 22: 7 x 10 = 70

23: 9X 7T =68 23: 6 X 9= 54

24: 10 x 11 = 110 24: 10 x 4 = 40

25: 12 X7 =84 25: 9 x 8= 72

mul_2to12_2to12 mul_2to12_2to12
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Question 7 [25 marks] Question 8 [25 marks]
0 3x4=12 0: 2x10=20
1 3x6=18 1: 6 x 8= 48
2: 5 x2=10 20X d=25
3 12 x5 =60 3 TX8= 56
4: 8X3=2y4 4 Tx4=28
5 10 x 12 = 120 5 9x4=30
6: 3x6=18 6: 10 x 11 = 110
7. 3 X9 =27 7. 3x 11 =33
8 12x2= 2/ 8 Hx3=15
9: DX 9=45 9: DX 2=10
10: TX2=14 10: 11 x 2= 22
11: 8 X 6 =48 11: 5 X 8= 40
122 7TX 8= 50 122 8 X 7= 50
13: 8 x 12 = 96 13: 3 X8 =24
14: 10 x 5 = 50 14: 8 X 5= 40
15: 8 X 10 = 80 15: 4 x4=16
16: 6 x 5= 30 16: 77X 9= 63
17 10 x 11 = 110 17 9x 3= 27
18 DX T7T=35 18 4 xX7=28
19: 2X 7= 14 19: 3 x 12 = 36
20: 2X 9= 18 20: H X 12 = 60
21: 6 X 3 = 18 21: 10 x 8 = 80
22: 9 x 9= 81 22 3X2=10
23: T X 2= 1/ 23: 8 X 10 = 80
24: 8 X 12 = 96 24: 10 x 10 = 100
25: 0 X 12 = 60 25: 2xX6=12

mul_2to12_2to12 mul_2to12_2to12

008 7 September 2014 4



Mul-Pos-L1 Answers Set1
Question 9  [25 marks] Question 10 |25 marks]
0: 11 X6 =66 0: 9x8=T72
1 4x8= 32 1: 5 X 6= 30
2 8XT7=156 2. 4X6=24
3 8 X 6= 48 3. 10 x 10 = 100
4. 6xX9=54 4 10 x7=170
5 11 x 10 = 110 5 12x 9= 108
6: 2x4=28 6: 9x 8= 172
7. 12x2=24 7. 12X 5= 60
8 12x2= 2/ 8: 8 X H =40
9. 11 x 12 =132 9: 11 x 9= 99
10: 4 X5 =20 10: 4 X6 =2/
11: 6 x4 =24 11: 9x 3 =27
12 4 x 10 = 40 12 11 X 6 = 66
13: 11 x 11 = 121 13: 12 x 2= 24
14: 2XxX3 =0 14: 4 X 8= 32
15: 12 x 9= 108 15: 6 x 12 =72
16: 10 x 3 = 30 16: 9 x 8= 72
17 8 X 2= 16 17: 12 x 10 = 120
18: 5 x 10 = 50 18 O x4 =20
19: DX 2= 10 19: 6 X 5= 30
20: 12 x4 = 48 20: 4 X 12 =48
21: 10 X 5 = 50 21: 3 X b= 15
22: 9x 4 =250 22: DX 8= 40
23: 3 X 8= 24 23: 6 X 5= 30
24: 12 x 11 = 132 24: H X 8 = 40
25: 12 X6 =72 25: 2 X 8= 16
mul_2to12_2to12 mul_2to12_2to12
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Question 11 |25 marks] Question 12 [25 marks]
0: 11 X 6 =66 0: 4 x 10 =40

1 3x12= 36 1. 7T x4=28

2. 10 x 8 = 80 2 9x 11 =99

323X 11 =33 3 11 X6 =60

4: TX6=42 4 6x6=36

5 11 x 10 = 110 5 9X 5 =45

6: 9x 3 =27 6: 6 x4=2/

.3x3=29 7. 8X3=24

8 8x 12 = 96 8 I3 X2=20

9: 2X 7= 14 9: 8 X 5= 40

10: 3 x12= 36 10: 7x 11 =77

11: 10 x 9= 90 1: 4 x4 =16

122 8 x 2= 16 122 4 X 8= 32

13: 9x 8= 72 13: 11 x 11 = 121

14: 8X 2= 16 14: 12 X 7= 84

15 11 x4 = 44 15: 10 x4 = 40

16: 8X 2= 16 16: 4 x 11 = 44

17: DX 7= 35 17: 8 X 8 = 04

18 8 X 7= 56 18 3 X7 =21

19: Tx 11 =77 19: 10 X 5= 50

200 DX 3= 15 20: 11 X 7=77

21: 6 X 5= 30 21: 8 X 2 =16

22: 11 x 7= 77 22: 4 X 7= 28

23: 4 X 6= 24 23: 11 x4 = 44

24: 11 x4 = 44 24: 9 x4 =36

25: T X 6= 42 25: 4 X 5= 20
mul_2to12_2to12 mul_2to12_2to12
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Question 13 |25 marks] Question 14 |25 marks]
0. 6x14=284 0: 5 x 10 =50

1: 15 x6 =90 1: 13 x6=78

2 9x 15 =135 2. HXd=25

3 b x 10 = 50 3 12x9= 108

4. 12 x 11 =132 4 12 x 11 =152

5 11 x 11 = 121 5 14 %6 =84

6: 11 x7=77 6: 11 X b= 55

7. Tx11 =77 7. Tx12= 84

84X T7=28 8: 8 X 6 =48

9: TxX 8= 56 9: 3 X8 =24

10: 3x3=19 10: 4 x 8= 32

1: 4 x4 =16 1: 13 x9 =117

122 3 xH=15 12: 8 X 12 = 96

13: 4x4=10 13: 8 X 7= 50

14: 15 x 14 = 210 14: 8 x 14 =112

15: HXd =25 15: 9 x 10 = 90

16: 12 x5 = 60 16: 11 x99 =99

17: 3 x 10 = 30 17 § X 12 = 96

18 15 x 12 = 180 18 14 x 14 = 196

19: 8x 14 =112 19: 7x10= 70

20: 6 X3 =18 20: 7 x 10 = 70

21: 15 x 10 = 150 21: § x 4 = 32

22: 5 X 8= 40 22 4 X 3= 12

23: 6 X 15 = 90 23: 15 X5 =75

24: 12 x 12 = 144 24: 14 x 14 = 196

25: 11 x 9= 99 25: 13 X 13 = 169
mul_3to15_3to15 mul_3to15_3to15
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Question 15 |25 marks] Question 16 |25 marks]
0: 10 x 13 = 130 0: 9 X8 =72
1 13 x 13 =169 1: 4 x 14 =56
2. 15 x 7= 105 2: 13 x 10 = 130
30X 13 =65 3 11 x9= 99
4 6x 14 =8/ 4 13 x 10 = 150
5 6x12= 72 5 11 x 15 = 165
6: 4 x7=28 6: b x 3= 15
7.0 X 8= 40 7. 13 x 15 =195
8 14 x 10 = 140 8 13 x 13 = 169
9: 15 x 13 =195 9: 9x 11 = 99
10: 8 X 12 = 96 10: 14 x 11 = 154
11: 4x3 =12 11: 3 X 14 = 42
122 11 X8 =88 122 DX 3 =15
13: 9 x 10 = 90 13: DX T7T=385
14: 12 x 10 = 120 14: 11 x 15 = 165
15 7 x 10 = 70 15: 3 X 14 = 42
16: 6 x 12 =72 16: 4 x4 =10
17: 6 X 5= 30 17: 13 X 12 = 156
18 8 X4 =32 18 6 X7 =42
19: 14 x 8= 112 19: 13 x3 =259
20: 12 X 5 = 60 20: 12 X 4 = 48
21: 15 x 11 = 165 21: 15 x 15 = 225
22: 6 x4 =24 22: 10 x 8 = 80
23: 8 X 6= 48 23: DX 14 =70
24: 13 x 12 = 156 24: 10 x 12 = 120
25: 12 x 9= 108 25: 10 X 15 = 150
mul_3to15_3to15 mul_3to15_3to15
008 7 September 201 8



Mul-Pos-L1 Answers Set1
Question 17 |25 marks] Question 18 [25 marks]
0: 11 x 10 = 110 0. 11 x 11 =121
1 14 x 15 = 210 1 6x14=84
2 Tx12= 84 2. 11 x5 =55
3: 10 x5 =50 34 x 10 = 40
4 I X T=21 4 11 x 8= 88
5 7TxX3=21 5 4x4=16
6: 11 x 11 = 121 6: 9x 15 =135
7. 11 X 15 = 165 7. 9x 10 = 90
8 13x3=39 8 13 x4 =52
9: 11 X 6 = 66 9: 8 X 8= 04
10: 10 x 7= 70 10: 15 x 6 = 90
11: 4 x 15 = 60 1: 13 x 7= 91
122 10 X 3 = 30 12: 6 X 15 = 90
13: 10 x 7= 70 13: DX H=25
14: 4 x4 =16 14: 7T x 11 =77
15: DX 7= 35 15: 10 X 13 = 130
16: 3 X 7= 21 16: 11 x 10 = 110
17: 11 x 15 = 165 17: 15 X9 =135
18: 15 X 15 = 225 18 7TXH= 35
19: 11 x 11 = 121 19: 6 x 3 =18
20: 3 X 6= 18 20: 11 X 7=77
21: 14 x 14 = 196 21: 4 X 7= 28
22: 14 X 12 = 168 22: 10 x 14 = 140
23: 10 x 8 = 80 23: 8 X 9= 72
24: 11 x 13 = 143 24: 6 X 6= 30
25: 13 x 3 =39 25: 150 X 14 = 210
mul_3to15_3to15 mul_3to15_3to15
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Question 19 |25 marks] Question 20 |25 marks]
0. 11 x 13 = 143 0 Tx11 =77
1 12x 11 =132 19X T7=063
2 9x13= 117 2. 15 x 12 = 180
36 X7 =42 3 12x 13 =156
4: 12 x 8= 96 4 15 x4 =60
5 9x3 =27 5 4x3=12
6: 10 x 3= 30 6: 4 X 7=28
7. 9x 4= 30 7. 9x4 =36
8 3 x10= 30 8 13 x5 =065
9: 3x3=109 9: 12X 7= 84
10: 11 x9 =99 10: 15 x 14 = 210
11: 9x 15 =135 11: 6 x4 =24
122 14 x6 =84 122 4 X 15 = 60
13: 9x 13 =117 13: 4x3=12
14: 11 x 15 = 165 14: 15 x99 =135
15: 7T X 12 =84 15: 12 x 12 = 144
16: 3 X5 =15 16: 5 x 10 = 50
17: 11 x 14 = 15 17 8 X9 =72
18: 10 x 11 = 110 18: b x 14 =70
19: 9 x 11 = 99 19: 4 X 14 = 56
20: 10 x 14 = 140 20: 6 X 14 = 84
21: 15 x 14 = 210 21: 9 X D= 45
22: 3 X9 =27 22: 6 X 6= 36
23: 9X 6= 94 23: 12 x 3= 36
24: 8 X 13 = 104 24: 10 X 8 = 80
25: 4 x 3= 12 25: 11 x 11 = 121
mul_3to15_3to15 mul_3to15_3to15
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Question 21 |25 marks] Question 22 |25 marks]
0: 4 x 14 =56 0: 15 x 14 = 210
1 Hx 1l =55 1. 15 x 13 =195
2. 10 x 14 = 140 2. 12 x 14 = 168
3 8x 13 = 104 312 x 12 = 144
4 TxX12= 84 4 14 x 11 =154
5 3 X 12= 36 5 5 x 14 =170
6: 13 x15= 195 6: 8 X 1b = 120
7. 4x 13 =52 7. 6x12= 72
8 4x 14 =56 8 7Tx 15 =105
9 Tx 11 =77 9: 12 x 11 = 132
10: 13 x 12 = 156 10: 13 x 12 = 156
11: & X 13 = 65 11: 7 x 13 = 91
12 6 X 14 = 84 122 9x 11 = 99
13: 10 x 13 = 150 13: Hx 11 =55
14: 10 x 11 = 110 14: 7 x 14 = 98
15 14 x 14 = 196 15: 3 X 15 = 45
16: 7 x 15 =105 16: 11 x 14 = 154
17 3 X 12 = 36 17: 15 x 14 = 210
18: 3 X 11 = 38 18: 4 x 12 = 48
19: 8x 14 =112 19: 8 x 14 =112
20: 12 x 13 = 156 20: 8 X 12 = 96
21: 9x 13 = 117 21: 12 x 12 = 144
22: 13 x 13 = 169 22: 15 x 14 = 210
23: 11 x 12 = 132 23: 12 x 11 = 132
24: 7 X 14 = 98 24: 3 X 15 =45
25: 3 x 14 = 42 25: 8 X 15 = 120
mul_3to15_11to15 mul_3to15_11to15
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6 x 14 =84
14 x 12 = 168
12 x 13 = 156
3x 11 =33
3x 11 =33
13 x 15 = 195
5x 11 =55
4x11 =44
12 x 15 = 180
8 x 13 = 104
11 x 11 = 121
10 x 14 = 140
10 x 12 = 120
6x14= 84
3x15=45
9x13=117
14 x 11 = 154
Tx12= 84
8 x 13 = 104
12x 11 = 132
11 x 15 = 165
14 x 11 = 154
7x 14 = 98
Tx11 =77
12 x 11 =132

12 x 15 = 180

mul_3to15_11to15
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Question 24

15 x 11 = 165
14 x 14 = 196
5x12= 60
6x14=84
14 x 13 = 182
Tx11 =77
7Tx 14 = 98
I9x 15 =135
3x 14 =42
4 x11 =44
10 x 15 = 150
11 x 15 = 165
8§x 11 = 88
8§ x 15 =120
12 x 13 = 156
14 x 14 = 196
5x 11 =55
8 x 13 = 104
14 x 15 = 210
5x 13 =65
7Tx 13 = 91
7x 14 = 98
10 x 11 =110
7Tx 13 = 91
13 x 15 = 195
12 x 11 = 132

mul_3tol15_11to15
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Question 25 |25 marks] Question 26 |25 marks]
0: 15 x 14 = 210 0: Hx12=160
12 x12= 144 1: 14 x 15 = 210
2. 10 x 15 = 150 2. 10 x 15 = 150
3 14 x 15 = 210 3 13x 14=182
4. 13 x 14 =182 4 12 x 12 = 144
5 12 x 14 = 168 5 12x 11 = 132
6: 15 x 15 = 225 6: 7 x 14 = 98
7. 6x12="72 7. 10 x 13 = 130
8 Tx11 =77 8: 14 x 13 = 182
9: 10 x 11 = 110 9: 14 x 14 = 196
10: 12 x 11 = 132 10: 12 x 11 = 132
1: 10 x 11 = 110 1m: 11 x 11 = 121
12: 8 X 15 =120 12: 7x 13 = 91
13: H X 12 =60 13: 8 X 15 =120
14: 3 x 12 = 36 14: 6 X 12 =72
15: 4 x 11 = 44 15: 6 x 11 = 66
16: 3 X 14 =42 16: 12 x 15 = 180
17 7 x 14 = 98 17 7 x 13 = 91
18 7Tx 11 =77 18: 6 x 15 = 90
19: 6 X 13 =178 19: 3 X 12 =36
20: 10 x 15 = 150 20: 3 X 15 =45
21: 13 x 15 = 195 21: 14 x 13 = 182
22: 10 x 12 = 120 22: 12 x 11 = 132
23: 9x 15 =135 23: 3 X 12 = 36
24: 12 x 13 = 156 24: 13 x 11 = 143
25: 11 x 13 = 143 25: 3 X 13 = 39
mul_3to15_11to15 mul_3to15_11to15
008 7 September 2014 13



Mul-Pos-L1

Answers

Setl

Question 27
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3x 15 =45
12 x 12 = 14/
14 x 13 =182
14 x 12 = 168
3x 11 =33
O9x 14 =126
12 x 15 = 180
11 x 15 = 165
13 x 11 = 148
5x15=175
14 x 14 = 196
6 x 15 = 90
4x14=56
13 x 13 = 169
12 x 12 = 14/
3x12= 36
5x14= 170
5x15=175
7x 14 = 98
4x12= /8
9x11 =99
10x 11 =110
6x13=78
8 x 13 = 104
13 x 12 = 156
3x 11 =33

mul_3to15_11to15
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9x 14 =126
11 x14=154
12 x 14 = 168
13 x 13 =169
15 x 13 = 195
7x 15 =105
5x15=75

10x 11 = 110
12x 14 = 168
14 x 15 = 210
6x13=178

Tx12= 8

13 x 15 = 195
9x 11 =99

15 x 11 = 165
14 x12= 168
14x13= 182
13 x 12 = 156
§x14=112
13 x 11 =148
4 x15= 60

14 x11= 154
9x11= 99

9x15=1535
12x13= 156
7x 13 = 91

mul_3tol15_11to15
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Question 29 |25 marks] Question 30 [25 marks]
0 2x8=16 0: 16 x 11 = 176
1 5x 12 =60 1: 20 x 19 = 380
2. 8 x 15 =120 2. H X 8= 40
3: 16 X 18 = 288 3: 6 X7 =42
4 9x 16 = 144 4 bx17=85
5 17 x 19 = 323 5 9% 6= 94
6: 19 x4=76 6: 2x19= 38
73X 6=18 7. 11 x 11 = 121
82X 2=/ 8: 17 x 15 = 255
9: 9x 13 =117 9: 19 x 10 = 190
10: 10 x 9 = 90 10: 17 x 3 =51
11: 19 x 12 = 228 11: 18 X 19 = 342
122 2X3 =0 12: 18 X 5 = 90
13: 8 X 12 =96 13: 10 x 13 = 150
14: 11 x 19 = 209 14: 9 X 7= 63
15: 19X 9 =171 15: 13 X 20 = 260
16: 18 x 11 = 198 16: 4 x 8§ = 32
17 11 x 16 = 176 17: 13 X 16 = 208
18: 4 x 16 = 64 18: 2 x 12 =2/
19: 2x10= 20 19: 13 x 12 = 156
20: b X 16 = 80 20: 7 x 16 = 112
21: 8 X 20 = 160 21: 15 x4 = 60
22: 16 x 13 = 208 22: 3 X 12 = 36
23: 8 X 11 = 88 23: 6 X 9= 54
24: 3 X 16 = 48 24: 4 X 15 = 60
25: 20 X 13 = 260 25: 19 X 2 = 38
maul_2t020_2t020 mul_2t020_2t020
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Question 31 |25 marks] Question 32 |25 marks]
0: 20 x 9 =180 0: 12 x 19 = 228
1 17x6 =102 1: 20 x 3 = 60
2. 15 x 15 = 225 2. 2x10= 20
3 8x4 =32 3 13 x9= 117
4: 8X 3 =24 4 12 x 18 = 216
5 3 X 12= 36 516 X 15 = 240
6: 7Tx12= 84 6: 11 x10= 110
. TX2=14 7. 10 X 6 = 60
8 9x 18 = 162 8: 20 x 11 = 220
9: 12 x 3= 36 9: 13 x5 = 65
10: 18 x 12 = 216 10: 11 x 18 = 198
1: 9X 7= 63 11: 4 x5=20
12 15 x 16 = 240 122 7x19= 133
13: 10 X 6 = 60 13: 17 X9 =158
14: 14 x 2= 28 14: 6 x19= 11/
15: 3 x4 =12 15: 8 X 2= 16
16: 9X 7= 63 16: 11 x 16 = 176
17: 8 X 7= 56 17 9 x 14 = 126
18 13 x 11 = 148 18: 2 x 20 = 40
19: 7x10= 70 19: 11 x 19 = 209
20: 10 x 9 = 90 20: 13 x 14 = 182
21: 19 X 17 = 323 21: 17 X 17 = 289
22: 5 X 14 =70 22: 14 x 10 = 140
23: 11 X 5= 55 23: 4 x2=28§
24: 16 x 2 = 32 24: 16 x 14 = 224
25: 12 x 14 = 168 25: 3X2=06
maul_2t020_2t020 mul_2t020_2t020
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Question 33 |25 marks] Question 34 |25 marks]
0: 10 x 12 =120 0: 14 x7=98
1 12 x 20 = 240 1. 17 x 16 = 272
2. 3 x20= 60 2. 7T x20= 140
3 13 x 20 = 260 3 7Tx20= 140
4 b x 11 =55 4 20 x 7= 140
5 8X 7 =156 512 x 19 = 228
6: 19 x99 =171 6: 6 X7=42
7. 12 x 19 = 228 7. 3 x 16 = 48
8 16 x 13 = 208 8: 8 X 18 = 144
9: 15 x 6= 90 9: 2x19= 38
10: 14 x 16 = 224 10: 3 X 8= 24
1: 17 x 14 = 238 1: 2 x20= 40
122 9 x 15 =135 122 18 x 12 = 216
13: 10 X 16 = 160 13: DX 17= 85
14: 11 x4 =44 14: 4 x5 =20
15: 11 x 11 = 121 15: 2x 5= 10
16: 6 x 17 = 102 16: 12 x 14 = 168
17 10X 7= 170 17 4 x5 =20
18: 13 x 20 = 260 18: 5 x 16 = 80
19: 18 X 13 = 234 19: 12 x6 =72
200 11 x 11 = 121 20: DX 8= 40
21: 18 X 17 = 306 21: 18 X b = 90
22: 12 x 19 = 228 222 6 X 13 =78
23 4 x4 =16 23: 19 x 19 = 361
24: 15 x 10 = 150 24: 20 x 11 = 220
25: 2 X 2=/ 25: 13 x 10 = 130
maul_2t020_2t020 mul_2t020_2t020
008 7 September 2014 17
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Question 35 |25 marks] Question 36 |25 marks]
0: 6 x 18 = 108 0: 12 x 14 = 168
:4x8= 32 1 12X 8= 96
2: H5x2=10 22 4x3=12
3. 17 x 15 = 255 3 12X 8= 90
4. 2x15= 30 419 x 15 = 285
5 18 x 19 = 342 514 x 9= 120
6: 18 x 3= 54 6: 2Xx 17= 34
7. 12X 6 =72 7. 6x13="78
8 9x9=381 8 TX6=42
9: 10 x 19 = 190 9: 2x 5= 10
10: 3xX2=06 10: 18 x 12 = 216
11: 14 x 20 = 280 1m: 2x 11 =22
122 4 X 9= 30 122 3X2=06
13: 12X 7=284 13: 5 x 20 = 100
14: 17 x 19 = 323 14: 5 x 20 = 100
15: 15 X 19 = 285 15: 14 X 17 = 238
16: 4 x 3 =12 16: 11 x 17 = 187
17 4x2=28 17: 18 X 6 = 108
18 14 x 2= 28 18: 6 x 20 = 120
19: 19 x 10 = 190 19: 2x5=10
20: 15 X 7= 105 20: 18 x 10 = 180
21: 20 X 12 = 240 21: 14 x 15 = 210
22: 2 X 17 = 34 22: 13 X 2= 20
23: 15 x 11 = 165 23: 10 X 13 = 150
24: 14 x5 =70 24: 10 x 3 = 30
25: 7 x 10 = 70 25: 14 x 13 = 182
maul_2t020_2t020 mul_2t020_2t020
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Question 37 |25 marks] Question 38 |25 marks]
0. 8 x 18 =144 0 4x11 =44
1 9x 11 =99 1 3x15=45
2 3 x 17= 51 2. 8 x 11 = 88
3 2x14=28 3 10 x4 =40
4: 17 x 6 = 102 4 17Tx 9= 153
5 15 x 16 = 240 5 12X 3= 36
6: 18 x 7= 126 6: 12 x 3= 36
7. DX 8= 40 7. 5 xX 11 = 55
8 20 x 3= 60 8: 4X6=24
9 9x 13 =117 9: 6 X7 =42
10: 11 x 17 = 187 10: 15 X 17 = 255
11: 8x 14 =112 11: 9X 5= 45
122 7xX 15 =105 12: 14 x 20 = 280
13: 8 X 8= 04 13: 3x4=12
4: 7TxX17= 119 14: 16 x 9 = 144
15: 18 x 4 =72 15: 20 X 7= 140
16: 18 x 6 = 108 16: 9 X 16 = 144
17: 15 X 19 = 285 17: 8 X 8 = 64
18 17 x 16 = 272 18: 10 x 9 = 90
19: 20 X 15 = 300 19: 11 x99 =99
20: 7XH= 35 20: 11 x 11 = 121
21: 9 x 11 = 99 21: 20 x 11 = 220
22: 15 X 19 = 285 22: 12 X 5 = 60
23: 12X 2= 24 23: 17 x5 =85
24: 11 x 3 = 33 24: 18 x 11 = 198
25: 5 x 20 = 100 25: 9 x 13 =117
maul_2t020_2t020 mul_2t020_2t020
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Question 39 |25 marks] Question 40 [25 marks]
0. 17 x 17 = 289 0: 16 x 15 = 240
1: 9x 9= 81 1: 15 x 16 = 240
2. 15 x 12 =180 2 9x2=18
3 6 x17= 102 3 2x10= 20
4: 8 x 20 = 160 4 4x12= 48
5 12x 16 = 192 5 17 x 16 = 272
6: 17 x 17 = 289 6: 8 X 12 = 96
7. 4x2=28 7. 15 x 14 = 210
8 17x 3 =51 8: 13 x 19 = 247
9. 11 x 11 = 121 9: 16 x 3 = 48
10: 6 X 18 = 108 10: 5x 13 =65
11: 20 x 11 = 220 11: 20 x 20 = 400
122 2x 13 =26 12: 11 x 20 = 220
13: 8 X 16 = 128 13: 8 X 16 = 128
14: 20 x 17 = 340 14: 13 x 10 = 150
15: 11 x 20 = 220 15: § X 17 = 156
16: 6 X 19 =114 16: 2X 2=/
17: 2x4=28 17: 19 x5 = 95
18 4 x 11 =44 18 7x 16 =112
19: 20 x 13 = 260 19: 9 X6 =54
20: 10 x 15 = 150 20: 6 X 19 =11/
21: 9 x 15 = 135 21: 20 X 7= 140
22: 17 x4 = 68 22: 11 X 18 = 198
23: 2x 5= 10 23: 16 X 8 = 128
24: 5 X 13 = 65 24: 10 X 13 = 130
25: 8§ X 17 =136 25: 9 X 15 = 135
mul_2t020_2t020 mul_2t020_2t020
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Question 41 |25 marks] Question 42 |25 marks]
0. 11 x 14 =154 0 9x19=171
13X 18 =54 1 ox 11 =55
2. 19 x 15 = 285 2 8x 14 =112
3 19 x 12 = 228 3 19 x 19 = 361
4. 9x 13 =117 4 bx15=175
57X 18 = 126 5 11 x 14 = 154
6: 4 x20= 80 6: 4 x 13 =52
7. 18 X 20 = 360 7. 20 X 16 = 320
8 6 x15= 90 8 11 x 17 = 187
9: 8 x 11 = 88 9: 3 x 17= 51
10: 10 x 17 =170 10: 11 x 19 = 209
1: 8§ x 16 = 128 1: 9 x 12 =108
12 10 x 17 = 170 12: 16 x 12 = 192
13: 20 x 12 = 240 13: 20 x 20 = 400
14: 7 x20= 140 14: 12 x 11 = 132
15: 20 x 12 = 240 15: 14 x 11 = 154
16: 13 x 15 =195 16: 20 X 15 = 300
17 7T x 16 =112 17: 9 x 18 = 162
18: 18 X 17 = 306 18: 17 x 19 = 323
19: 10 x 16 = 160 19: 8 X 19 = 152
20: 6 x 11 = 66 20: 15 X 13 = 195
21: 3 X 12 = 36 21: 19 X 16 = 304
22: 11 x 18 = 198 22: 14 x 15 = 210
23: 11 x 16 = 176 23: 19 X 18 = 842
24: 13 x 20 = 260 24: 6 X 16 = 96
25: H X 13 = 65 25: 9 X 18 = 162
mul_3t020-11t020 mul_3t020_11t020
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Question 43 |25 marks] Question 44 |25 marks]
0: b x 16 =80 0: 10 x 14 = 140
1 6x14=84 1: 20 x 17 = 340
2. 7Tx19= 133 2. 17 x 16 = 272
34 x12= 48 33X 12= 36
4. 8x 12 = 96 416 x 15 = 240
5 9x 14 =126 5 17 x 16 = 272
6: 3x13= 239 6: 8 X 13 =104
7. 19 x 20 = 380 7. HxX17T= 85
8 1bx 11 =165 8 4 x18= 72
9 9x19= 171 9: 7Tx 19 =153
10: 6 x 15 = 90 10: 15 x 16 = 240
1m: 9x 13 =117 1m: 12 x 11 = 132
12: 16 x 18 = 288 122 13 x 15 =195
13: 6 x13=78 13: 6 X 16 = 96
14: 14 x 16 = 224 14: 11 x 17 = 187
15: 9x 11 = 99 15: Hx 14 =70
16: 13 x 15 = 195 16: 9 x 11 = 99
17: 20 X 17 = 340 17: 8 X 15 =120
18: 6 x 15 = 90 18: 20 x 17 = 340
19: 8 X 20 = 160 19: 14 x 20 = 280
20: 10 X 17 = 170 20: 8 X 18 = 14/
21: 8 X 18 = 144 21: 13 X 19 = 247
22: 15 X 18 = 270 22: 7T X 12=84
23: 8 x 14 =112 23: 5 X 12 = 60
24: 18 x 18 = 324 24: 18 X 17 = 306
25: 10 X 13 = 130 25: 6 X 14 = 84
mul_3t020-11t020 mul_3t020_11t020
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Question 45 |25 marks] Question 46 |25 marks]
0. 8 x 18 =144 0 7x13=91
1 10 x 13 = 130 1: 16 x 13 = 208
2 6x12= 72 2: 20 X 18 = 360
3 17 x 19 = 323 312 x 12 = 144
4. 19 x 12 = 228 4 bx 1l =55
5 14 x 13 = 182 56 x17= 102
6: 6 x 11 = 66 6: 15 x 17 = 255
7. 7T x20= 140 7. 10 x 17 = 170
8: 20 x 20 = 400 8: 3 x20= 60
9: 19 x 17 = 323 9: 14 x 12 = 168
10: 8x 14 =112 10: 19 x 15 = 285
11: 4 x19 =76 11: 8 X 15 =120
12 11 x 20 = 220 12: 4 X 15 = 60
13: 6 x19= 114 13: 10 x 14 = 140
14: 11 x 16 = 176 14: 9x 13 =117
15: 6 X 17 = 102 15: 12 x 14 = 168
16: 4 x 18 = 72 16: 4 X 17 = 68
17: 13 x 20 = 260 17: 19 X 19 = 361
18 11 x 15 = 165 18: 10 x 12 = 120
19: 14 x 18 = 252 19: 13 x 13 = 169
20: 3 X 16 = 48 20: 20 X 12 = 240
21: 18 X 18 = 324 21: 6 x 14 = 84
22: 7T x 14 = 98 22: 12 X 18 = 216
23 7 X 15 =105 23: 20 X 15 = 300
24: 7T X 13 = 91 24: 16 X 19 = 304
25: 17 X 18 = 306 25: 20 X 15 = 300
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Question 47

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

10 x 14 = 140
11 x 15 = 165
4x13=52
5x20= 100
4 x 17 = 68
5 x 12 =60
5x 11 =55
6x19=114
15 x 15 = 225
5x16= 80
5x20= 100
11x14= 15/
6 x 18 = 108
5x19= 95
5x16= 80
8§ x 12 = 96
15 x 18 = 270
11 x 20 = 220
3x 14 = 42
18 x 15 = 270
9x13 =117
13 x 11 = 143
10 x 16 = 160
15 x 15 = 225
19 x 15 = 285

16 x 17 = 272

mul_3to20-11to20

25 marks]

Question 48

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

6x12="72

15 x 13 = 195
6 x 15 = 90

12 x 18 = 216
9x 16 = 1/4
6 x 15 =90

16 x 11 = 176
18 x 12 = 216
13 x 19 = 247
12 x 12 = 144
4x18= 172

18 x 19 = 342
18 x 13 = 234
5x16 = 80

10 x 13 = 150
11 x 20 = 220
16 x 18 = 288
11x14 =154
7Tx18= 126
9x 11 =99

17 x 16 = 272
7Tx19= 133
19 x 19 = 361
13 x 17 = 221
8 x 13 = 104
11 x 11 = 121

mul_3to20-11to20

25 marks|
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